
��������	
��������
 

 

 

 

 

 

 

 

��������������������������

 

 

 

 

 

 

 

 



���������	
��
������
���������
�������������
���
������� ���
�!
����"#
��$%���&	����'  

�!��	(	
��)$�*����+�
�,�-
.+�������,�/
�	�+0�1���/
$2��3	��
�	��
&4����*������� ���/5	6�
�	������� ���
������7��4���� �

��	�� .����&4���8������� �����������	
�����

 

�$60��	� 

�!9$#����� 

���	1�����  

 

 

 

 

 

 

 

 

 

 



������������ 
��������� ���$:�;������	Language-INtegrated Query
� 

���
�<	6���� ��������
��
������������������� �
�!""#� 

��+6���$1�
��	9���
���	������	��
��	������'+=��&
�����
	�>?�������
����7>��;���+�	�9�&4�	�����
���!��	���!�	�>@
�;�	��	���	���
$�

�	�A����,���	�$�!������9
�,�$���:
���	�B���	����
�.�B������+��'  

���+��� ���$�-�C6����D  

 

 

������+�B9�;�	��-
�!�	9���A$�%�&

'�()��
��%�&��)�%�*  �����

��C,
�!�>��-
�+�	��!��7$���������	�$�� ������
�����E��� 



���	���	��&�F����
���������B���!�	�>@
�;�	��	���	���
$��	�+ ����� 

+������
�,-.����/�	��
�	���	��%+������
�0��/�0����	9�+��

���'''��
���$��	�'  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



������������

��+�
$A����� � ������
����������
����(���>8#������@�&	�9� 

���	��!�������E���������$�,G��	9���
��	���	���
$� 

�	��!6�	���	9���
�������;������	��.�B��+���
���	�$��.�9
�,�!� 

�.�+��H-
�$1�
��$�-��	9����AD  

 

��+���	I�
����� ��J�$1'  

� ��+���A	(
��J�$1����'����K1 ������
�����&�����;����	����
�
��
$��

����$����
��;�����J�$1�)	��$���
����
(��1'�
��� 

��+��L	M��
�
���������
��+��N�*  ����+��$�-����

���
OP�������
��&4�)	������$��L	M��
�������
�����&�������;� 

Q�C6�2R �

�C6���+�	��!����!��$9	S� ����� -
� 



�C6�2  

�C6�!  

 



��+��;����' ���3����1'�
�������� 

��+��L	M��
�
����,�;�	��TF�������������A	(
���B#��� 

�.+6���L	M��
�
��������;�	�����3	?����
��� 

�!U	,���:	�����
��	9�3�� �.+��!���A	(
��$I+1�E�� 4��	�5�4�
'�	� 

Q�C6��R  

 

�C6��  

 

.��������.9�!���������������V�#��5	: 

������%�4��������
$�����
���6���
( ����	�$��)$A������	�� �



��
�� �7�
�� ���� �� 8' ���%��(���� 

�I����V�	����
$��'  ������ ���� ���;��  

 

�����
����

�	�$��������;�	��!�#��A	(
�&���	�$�����7>�������+��!���A	(
��  

 �6�	����+�	������' TestDataContext�)	��������!�� 

���!���	I�
�3�� �)	��	��7>�����.U�� �$9��
-
���'  

����)�	��.�-	B��;�	��7>��-
������������	��3�
����������
$� 

�0��
$ 
�&�
����'  

TestDataContext Bank=new TestDataContext(); 
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var Query = from T in Bank.Test_Tables 

             where T.Age > 10 

             select T; 
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dataGridView1.DataSource = Query; 

 

 

TestDataContext Bank=new TestDataContext(); 

var Query = from T in Bank.Test_Tables 

            where T.Age > 10 

            select T; 

 

dataGridView1.DataSource = Query;�
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TestDataContext Bank=new TestDataContext(); 

int SelectedId = 5; 

var Query = (from P in Bank.Test_Tables 

             where P.ID == SelectedId  

             select P).Single(); 

Query.FName = "Change"; 

Query.LName = "Change"; 



Query.Age = 0; 

 

Bank.SubmitChanges(); 
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TestDataContext Bank = new TestDataContext(); 

Test_Table test_table = new Test_Table(); 

 

test_table.Age = 22; 

test_table.FName = "X"; 

test_table.LName = "XXXX"; 

 

Bank.Test_Tables.InsertOnSubmit(test_table); 

Bank.SubmitChanges(); 



: ��
��� 

TestDataContext Bank = new TestDataContext(); 

             

var Query = (from P in Bank.Test_Tables 

            where P.ID == 5 

             select P).Single(); 

             

Test_Table TT = new Test_Table(); 

             

Bank.Test_Tables.DeleteOnSubmit(Query); 

 

Bank.SubmitChanges(); 
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TestDataContext Bank = new TestDataContext(); 

Bank.Pro(); 
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